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P\SSiCJNN\SNT #9
SolouTioNnS
Applisd maTH

(201~ 943 -DW
se 20102

a. 0.2%
b. 0.93
C. -1.41

d. -1.92
e.-3%.38

£, 184.00
9. 3.09°
h. 64.40°
i . -50.98°
J. 4.63°
K. 16.62°
L. -1.33°

31 —4secs56 - asc 38°

9y
3¥ —3-153 _ 1.022
=2
3\4-—:{..153 = 9.2%

-3.163 = ©.2Y%

[5(,-'—‘---!.]5]
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2b. .
X - csc22° = ¥ coTs5°-5
CoS33°- K
2% - 2.669 = o.%x -5
0.225—?—%

(2y -2.669)(0.225-Fx) = o.3x-5

O.U5Y —14y?-0.64+18.68¢ =0-Fx-5
-lUxz+18.43¢ +4 4 =0

QuadrAaTic
Y= —18.43 1 \JaguD= U (A
ErAS T\

-

= Ma.43 + 24.21
- 28

SoluTiIoNS

Eo.zO(a & 1.52L




PA9T 3 oF Y
. Sinx =-0.5

s (-—0-53 = -30° (3300>

Wrw SoluTions | lzloo & gaoj
b. Secx = -25
_
CosS¥x = 35
/ cos™ ("/z.s> =113.59°

- m s oluTioNS:
) — :
V LIIB.SS“ & Zqé_qzj

C. 2 COT X + 17 =24
2 CoTy = +

CoTx = Y5
‘I‘Pm)c = 3/4
'7; 4]
)13.‘15( “ ‘l:ﬁl\—‘(%): 23.2.

soluTiOoNS E3'2° & 203.2:/




d 2 PASE HoF y
. ©COoSx =4 cosy

( cos?x ~Heosx =0
2 (c.oSw.) ( 3cosy —2) =0

Cosy =0 cos x= 7./3
Cos'(%) = 48.19°

soluTionsS

‘ 90°, 230", 48.19°, 311.99

e. (siny)(zsine-D =0
Sinx =0 Sinx = )%

Mma
‘ 30




Assignment 10

1, Use your calculator to find X. (All angles are in decimal -

degrees.) (mound To THE NEAReST HUNDredtH )

a. X = sin(16.17%) g. X° = sin"'(.1234)

b. X = cos(21.43°% h. x° = cos (.4321)

c. X = tan(-234.56°) i.  X° = tan"t(-1.234)
d. X = cot(-27.54°) j. X% = cot™Y(12.34)

e. X = sec(-269.269°) k. X° = sec(4.321)

f. X = csc(0.3114°) . x° = csc{-43.21)

2. Solve the following equations for x. (ROUNG TO NeAresT HUM&“Q‘A‘W\)

a. 3x - 4sec(56°) = csc(78°)
Ox
b. (2x - csc(22°)) = (xcot{55°) - 5)

(cos{77%) - 7x)}

3. Solve the following equations for X where 0 £ X < 360°. The

number of distinct solutions is given in brackets. ( Raund To NEAREST
HUNdReaTH)

a. sin(X) = -0.5 (2)
b. sec(X) = -2.5 - (2)
c. 3cot(X) + 17 = 24 (2)
d. 6cos®(X) = dcos(X) , (4)

e. {sin{X)) {zsmed—1) = 0 (3}



